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T EXAMPLE 3 Evaluate // xy dA, where D is the region bounded by the
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line y = x — 1 and the parabola

SOLUTION  The region D is shown in the figure. Again D is both type I and
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/B hen this equation gives
— 0 /
Xy dA = dx\ d
Video Example // Y / 1/2y2 -3 Y ¢
- . y+1
B W3 . / o dy
2 HKlix=12y2-3

= %/ [(y+1)2 (’_-L:';,

*)\ £ pe 11, but the description of D as a type | region is more complicated
e the lower boundary c
express D as a type Il region

D={(x.y)’—25y54,%y2—35x5y+1}.

- = %/_:(I:| (+4y +2y% - By)
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ists of two parts. Therefore we prefer to
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